RESEARCH

Open Access

Multiple imputation using chained equations for missing data in TIMSS: a case study

Donia Smaali Bouhlila^{*} and Fethi Sellaouti

* Correspondence: sma.ali@fsjegj.rnu.tn Université de Tunis El Manar, Faculté des Sciences Economiques et de Gestion de Tunis, Laboratoire Prosepective, Stratégies et Développement durable (PS2D), Tunis, Tunisia

Abstract

In this paper, we document a study that involved applying a multiple imputation technique with chained equations to data drawn from the 2007 iteration of the TIMSS database. More precisely, we imputed missing variables contained in the student background datafile for Tunisia (one of the TIMSS 2007 participating countries), by using Van Buuren, Boshuizen, and Knook's (SM 18:681-694,1999) chained equations approach. We imputed the data in a way that was congenial with the analysis model. We also carried out different diagnostics in order to determine if the imputations were reasonable. Our analysis of multiply imputed data confirmed that the power of multiple imputation lies in obtaining smaller standard errors and narrower confidence intervals in addition to allowing one to work with the entire dataset.

Background

Missing data are a part of almost all research. Scrutiny of data from the iterations of TIMSS (Trends in International Mathematics and Science Study) makes clear that the survey participants, whether students, teachers, or school principals, fail to complete all of the items of their respective questionnaires. Because TIMSS data offer a rich array of information about the major factors thought to predict student achievement in mathematics and science, the incomplete cases mean not only a loss of power of the analyzed data but also the potential to bias the estimates of interest (Little, 1992; Little & Rubin, 2002).

Our aim in this paper is to apply the multiple imputation technique introduced by Rubin in the early 1970s (see Rubin, 1987) to a TIMSS dataset and thereby explore its possibility as a solution to the problem of survey nonresponse. We begin by examining the theoretical underpinnings of multiple imputation and then briefly describe traditional imputation approaches. Next, we use Van Buuren, Boshuizen, and Knook's (1999) multiple imputation by chained equations approach to provide an illustration of imputing student background data missing from the TIMSS 2007 datafile for Tunisia.

Multiple imputation: a review of the literature

Among the traditional methods developed to enable investigators to make statistical inferences when data are incomplete are listwise deletion or complete case analysis, pairwise deletion, mean substitution, regression imputation, and inclusion of an indicator variable.^a Over the last two decades, investigators have used these methods, despite



© 2013 Bouhlila and Sellaouti; licensee Springer. This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/2.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited. their drawbacks, extensively in their empirical research. The drawbacks include further loss of data, biasing the sample statistics, and reducing the variance of the variable in question (Acock, 2005; Little & Rubin, 2002; Peugh & Enders, 2004; Rubin, 1987).

More statistically principled methods for handling missing data also exist. They include the maximum likelihood estimation via the expectation maximization algorithm (EM) (Dempster, Laird, & Rubin 1977) and multiple imputation (Little & Rubin, 2002; Rubin, 1978, 1987, 1996; Schafer & Graham 2002). These methods produce estimates that are superior to those of the older methods, but for many researchers, multiple imputation is the general solution to missing-data problems in statistics (Rubin, 1996; Schafer, 1997). Certainly, multiple imputation is an innovative approach over the traditional ones. On the one hand, researchers in many fields can use it. On the other hand, because its implementation is becoming easier (thanks to the existence of statistical software packages), researchers are tempted to use it despite the problems associated with it.^b

What is multiple imputation?

Before explaining what multiple imputation is, we consider it useful to study the mechanisms and patterns associated with missing data.

Exploring missing-data mechanisms

The missing-data mechanism has three classifications (Rubin, 1976): missing at random (MAR), missing completely at random (MCAR), and missing not at random (MNAR). Data are said to be missing at random (MAR) if other variables in the dataset can be used to predict missingness on a given variable. For example, in surveys, men may be more likely than women to refuse to answer some questions. Here, data will be missing completely at random (MCAR) because the process that causes missingness does not depend on the values of variables in the dataset subject to analysis (Little, 1988; Rubin, 1976; Zhang, 2003).

MCAR is a fairly strong assumption, and tends to be relatively rare. For instance, in the context of survey data, MCAR data might occur when a respondent simply skips an item or a question, perhaps because of neglecting to turn the page of a question-naire booklet. MAR is a less restrictive assumption than MCAR. Finally, data are said to be missing not at random (i.e., MNAR, also called nonignorable missing data) if the value of the unobserved variable itself predicts missingness. A classic example of this is income. Individuals with very high incomes generally refuse to answer questions about their earnings. This is not the case for individuals with more modest incomes.^c

Careful consideration of the missing-data mechanism is important because different types of missing data require different treatments (Allison, 2000; Schafer, 2003). When data are MCAR, the complete cases analysis will not result in biased parameter estimates. The only cost is a reduction in the sample size and the statistical power of the analysis because MCAR leads to larger standard errors. In contrast, analyzing only complete cases for data that are either MAR or MNAR can lead to biased parameter estimates. Because multiple imputation generally assumes that the data are, at the least, MAR, this approach can also be used on data that are MCAR (Marchenko & Eddings, 2011).

Exploring missing-data patterns

In order to choose an adequate imputation method, we must first look at the missingdata pattern. Two possible patterns can be identified: monotone pattern and arbitrary pattern. With a monotone pattern, X_2 is observed only on a subset of subjects on whom X_1 is observed. X_3 is observed only for a subset of those on whom X_2 is observed, and so on (Raghunathan, Lepkowski, Van Hoewyk, & Solenberger, 2001). With the arbitrary pattern, missingness is widespread. Figure 1 provides an example of a monotone, arbitrary-patterned dataset containing four variables— V_1 to V_4 , where 1 s indicate observed values and 0 s indicate missing values.

Monotone imputation requires a specific order of the prediction equations. X_1 is imputed using all of the complete variables as predictors, and X_2 is then imputed using the observed and imputed values of X_1 and the other predictor variables. Thus, with



this process, the previously imputed variables are added sequentially to the prediction equations of the other imputation variables.^d

Overview of multiple imputation

Multiple imputation is a statistical technique for handling incomplete data and for delivering an analysis that makes use of all possible information (Rubin, 1977, 1978). It was derived using the Bayesian paradigm (Rubin 1987, 1996). Multiple imputations are repeated random draws from the predictive distribution of the missing values. More precisely, multiple imputations are drawn from a posterior predictive distribution of the missing data conditional on the observed data.

When seeking a Bayesian imputation model, we need to take all sources of variability and uncertainty in the imputed values into account in order to yield statistically valid inferences (Rubin, 1987). The process of substituting the predicted values for the missing ones is performed *M* times (M > 1). (We discuss choice of imputation models and the number of imputations later in this paper.)

Imputing the missing data leads to the database, called the "imputed database", appearing to be complete, and allows researchers to apply complete-data-based methods on each of the M imputed datasets. The parameter estimates, usually known as the regression coefficients, are averaged using rules established by Rubin (1987) to produce a single set of results (see the Appendix to this paper). Multiple imputation thus requires the building of an imputation model in which predictor variables have to be specified. For discussions of the theoretical and statistical foundations of multiple imputation, see Nielsen (2003), Rubin (1987), and Zhang (2003).

Building an imputation model

In order to implement multiple imputation in practice, we first need to specify the predictor variables. Having done that, we can then construct a predictive model.

Specification of the predictor variables The first task that needs to be accomplished when carrying out multiple imputation is selection of the predictor variables. We discuss several approaches to determining which variables to include.

Meng (1994), Rubin (1996), Taylor et al. (2002), and White, Royston, and Wood (2011) advocate including all variables associated with the probability of missingness, along with the variables contained in the dataset. From a practical perspective, deciding which variables to include can be accomplished by establishing the correlations between each variable to be imputed and the predictors. If the magnitude of a correlation exceeds a certain level, then the applicable variable is included (Van Buuren et al., 1999). Allison (2002), Moons, Donders, Stijnen, and Harrell (2006), and White et al. (2011) all highlight the need to include the dependent variable of the analysis model in the imputation model.

According to several investigators, among them Enders, Dietz, Montague, and Dixon (2006), Graham (2009), and Jolani, Van Buuren, and Frank (2011), the imputation model should be more general than the analysis model in order to capture more associations between the variables. Also, in situations where there are too many variables, Graham (2009) recommends using principal component analysis in order to detect the variables that have high correlations with the dependent variable.

In the same spirit, and in order to have a rich imputation model compatible with the analysis model, Stuart, Azur, Frangakis, and Leaf (2009) argue for the necessity of including in the regression models those variables that lead to some minimum additional *R*-squared. Another alternative is to use the variables that will be used in the analysis model in the imputation model (Schafer, 1997, Raghunathan et al., 2001). However, as Raghunathan and his colleagues (2001) have shown, the inclusion of more and more variables leads to the standard errors of the estimates for the analysis model becoming smaller and smaller.

Specification of the imputation model^c The next step in multiple imputation is specification of the imputation model. Two distinct approaches are used—the multivariate normal model and the chained equations approach.

Imputation using the multivariate normal model

The multivariate normal model was introduced by Rubin (1987; see also Little & Rubin 2002). This approach involves drawing from a multivariate normal distribution of all the variables in the imputation model, and it assumes that the variables are continuous and normally distributed. However, many datasets, especially those in international large-scale assessment databases, contain several different types of variable—categorical, binary, and skewed continuous. As such, the inclusion of nonnormally distributed variables in an imputation model that assumes normality may introduce bias. A pragmatic approach here is to transform these variables in order to obtain approximate normality (Sterne et al., 2009; White et al., 2011).

Schafer (2001, p. 7) discusses several ways to manage nonnormally distributed variables. For instance, he explains that nominal variables can be modeled in a way to approximate normality, and the continuous imputed values can be rounded off to the required category. Skewed continuous variables can be transformed by standard functions such as the logarithm, the square root, or the reciprocal square root, and after imputation transformed back to the original scale. Other variables with problematic distributions can be transformed by a method based on the empirical cumulative distribution function.

Shafer (2001) used this imputation model to impute the NHANES III dataset after modeling nonnormally distributed variables. Peugh and Enders (2004) demonstrated the use of multiple imputation using the multivariate normal model in the context of the Longitudinal Study of American Youth. Enders et al. (2006) also used this approach to impute missing data in the Longitudinal Study of Adolescents at Risk for the Development of Emotional or Behavioral Disorders. Schafer's (1999b) NORM program was used to conduct all of these illustrative analyses.^e

One drawback of imputing variables by assuming normality is that the distribution of the imputed values may not resemble that of the observed values (White et al., 2011). Although this approach has stronger theoretical underpinnings and some better statistical properties, the chained equations approach works well in practice (Raghunathan et al., 2001; Van Buuren et al., 1999; Van Buuren, Brand, Groothuis–Oudshoorn, & Rubin, 2006).^f

Imputation using the chained equations approach^g

This approach is sometimes referred to as ICE or MICE (i.e., multiple imputation by chained equations). It is also known as the fully conditional specification and sequential regression multivariate imputation (White et al., 2011). MICE is a practical approach for imputing missing datasets based on a set of imputation models, given that there is one model for each variable with missing values. MICE has been described in the context of medical research conducted by Royston and White (2011), Van Buuren et al. (1999), and White et al. (2011), and it is seen as a suitable approach for imputing incomplete large, national, public datasets. Work conducted by Oudshoorn, Van Buuren, and Van Rijckevorsel (1999) provides an illustration of this approach. They used MICE to obtain a complete version of the Dutch National Services and Amenities Utilization Survey of 1995 (AVO-95). The MICE procedure requires development of the MICE algorithm, a description of which follows.

Because the ICE approach involves a series of univariate models rather than a single large model, the MICE approach imputes data on a variable by variable basis by specifying an imputation model per variable. Suppose we have a set of variables $X_1,...,X_k$. Of this set of variables, some or all have missing values. If X_1 has missing values, it will be regressed on the other variables X_2 to X_k . The estimation is thus restricted to individuals with observed X_1 . The missing values in X_1 are then replaced by the predictive values, which are simulated draws from the posterior predictive distribution of X_1 . The following variable with missing values, X_2 , is regressed on all the other variables X_1 , X_3 to X_k . Estimation is thus restricted to individuals with observed X_2 and uses the imputed values of X_1 . Here again, the missing values in X_2 are replaced by simulated draws from the posterior predictive distribution of X_2 .

This process is repeated for all the other variables in turn for n cycles in order to stabilize the results and to produce single imputed datasets. Royston and White (2011) and Van Buuren et al. (1999) have all suggested that more than 10 cycles are needed for the convergence of the sampling distribution of imputed values, whereas the entire procedure is repeated independently M times, yielding M imputed datasets.

Selecting the number of imputations

It is important to know the number of imputations needed for a good statistical inference. Multiple imputation theorists suggest that small values of M, on the order of three to five imputations, yield excellent results (Rubin, 1987; Schafer & Olsen, 1998). Schafer (1999a) suggests that no more than 10 imputations are usually required. Graham, Olchowski, and Gilreath (2007) recommend that researchers using multiple imputation should perform many more imputations than previously considered sufficient. They reached this conclusion after using a Monte Carlo simulation to test multiple-imputation models across several scenarios in which the fraction of missing information^h for the parameter being estimated and M were varied.

White et al. (2011) offer another argument in favor of increasing M. Their approach is based on calculating the Monte Carlo error of the results, with the latter defined as the standard deviation across repeated runs of the same imputation procedure with the same data. White and his colleagues showed, using UK700 data,ⁱ that Monte Carlo error tends to zero as M increases. The three investigators also advanced a rule of

thumb, although they qualified it as not universally appropriate, which states that M should be at least equal to the percentage of incomplete cases in the dataset. If, for example, 70% of cases have complete data, this rule would suggest M = 30.

Imputation models for different types of variables

In general, datasets contain several types of variables that do not necessarily follow a normal distribution. An interesting feature of MICE is that it can handle different variable types (continuous, binary, unordered categorical, ordered categorical) by building different MICE algorithms (Royston & White 2011; White et al., 2011). Table 1 sets out the models that are used for different types of variable. Sometimes, continuous variables are either positively or negatively skewed. White et al. (2011) discuss two main ways of dealing with such variables: transformation towards normality and predictive mean matching.

Advantages of MICE and comparison of it with the multivariate normal model (MVN)

Despite lacking a theoretical rationale and despite the difficulties encountered when specifying the different imputation models, MICE has several practical advantages (Marchenko, 2011; Van Buuren et al., 2006; Van Buuren & Oudshoorn, 2011; White et al., 2011). The particularly interesting feature of MICE is its flexibility: each variable can be modeled by using a model tailored to its distribution. In addition, MICE can manage imputation of variables defined only on a subset of the data (e.g., pregnant women). MICE can also incorporate variables that are functions of other variables, and it does not require monotone missing-data patterns.

Brief mention of a number of comparisons between MICE and MVN is relevant here (see, in particular, Lee & Carlin, 2010; Marchenko, 2011; Van Buuren, 2007). To begin with, the multivariate normal model has theoretical underpinnings whereas MICE does not. Secondly, MICE imputes data on a variable by variable basis, but MVN uses a joint modeling approach based on a multivariate normal distribution (Schafer, 1997). MICE can also handle different types of variables while the variables imputed under MVN need to be normally distributed or transformed in order to approximate normality (Schafer, 1997). Finally, MICE can include restrictions within a subset of the data, whereas MVN imputation cannot.

Methods

Implementing MICE in the TIMSS datafile for students' background: a case study

Since their launch in the 1960s by the International Association for the Evaluation of Educational Achievement (IEA), international large-scale assessments such as

•	
Type of variable	The model used for imputation
Continuous variable	Linear regression
Binary variable	Logistic regression
Ordinal variable	Ordinal logistic regression
Nominal variable	Multinomial logistic regression

Table 1 Imputation models for different types of variables

the Trends in Mathematics and Science Study (TIMSS) and the Progress in International Reading Literacy Study (PIRLS) have become increasingly attractive to countries wanting to assess their students' achievement in mathematics, science, and reading literacy. IEA studies focus on student achievement and the factors related to it. They provide high-quality data for evidence-based educational policy and reform.

TIMSS was first conducted in 1994/1995, in 45 countries, at five grade levels (3, 4, 7, and 8, and the final year of secondary school). The second assessment, conducted in 1999, involved 38 countries and surveyed only one grade, Grade 8. The third iteration, in 2003, assessed students in Grades 4 and 8 in 50 countries. Fifty-nine countries participated in the fourth survey, in 2007. The students tested this time round were fourth and eighth graders. Just over 60 countries took part in the fifth and most recent TIMSS survey, conducted in 2011 and again surveying fourth and eighth graders. A number of these countries today have at hand data spanning over two decades, that is, from 1995 to 2011. The next TIMSS survey is scheduled for 2015.^j

The central aim of TIMSS is to assess students' achievements in mathematics and science. Another equally important purpose is to produce data that allow investigators to explore and identify factors relating to student learning, such as students' home backgrounds, as well as other factors arising out of policy changes relating to, for example, curricular emphases, allocation of resources, and instructional practices. These dual purposes are accomplished by administering questionnaires to participating students, their mathematics and science teachers, and the principals of the sampled schools.

The TIMSS assessments use a two-stage, clustered sampling design. During Stage 1, school selection is based on a probability proportional to size sampling approach, whereby there is a higher probability of choosing larger schools. The second stage consists of randomly choosing one or two intact classes at Grade 8 level. All students in the selected classes are then assessed, except for students excluded for specified reasons (e.g., intellectual disability) and students absent on the day of assessment. TIMSS also employs school stratification in order to improve the efficiency of the sample design. Both explicit and implicit stratifications are used. However, even in the absence of stratification, the TIMSS samples represent, on average, the different groups found in the wider population (Olson, Martin, & Mullis, 2007, p. 84).

TIMSS researchers use sampling weights to accommodate the fact that the probabilities associated with selecting some units, such as schools, teachers, and students, will differ. It is therefore necessary to consider the purpose of analysis when choosing sampling weights (Rutkowski, Gonzalez, Joncas, & Von Davier, 2010; Schafer, 2001). The inclusion of weights for each individual imputation makes it easier to ensure that the imputation model is appropriate (Rubin, 1996). Our advice regarding imputation of missing data is to use the *total student weight* when imputing missing values in the student datafile, to use the *weight for mathematics/science teacher data* when imputing missing values in the mathematics/science teacher file, and to use *school weight* when imputing nonresponse in the school datafile.

As is the case with data obtained from any other survey, the TIMSS database has missing values. According to Rubin (1987), survey nonresponse includes all the situations in which missing data arise from processing information provided by individuals and the failure of individuals to provide information. "Omitted", "not administered", and "don't know responses" are all considered to be missing values and hence in need of imputation.

- *Omitted responses:* These occur when a student, teacher, or school principal skips a question. Invalid answers in the background questionnaires, such as when the respondent selects two or more response options in a categorical variable, are considered to be omitted and thus missing (Foy & Olson, 2007).
- *Not administered:* The not administered code is used in the TIMSS background questionnaire datafiles when a respondent fails to complete a questionnaire or when a question is not administered because of, for example, having been left out, misprinted, removed from the questionnaire, considered not applicable in some countries,^k mistranslated, or deemed not internationally comparable (Foy & Olson, 2007).
- *Don't know responses:* As Little and Rubin (2002) point out, deciding what to do with individuals who respond with "don't know" is especially challenging. The don't know response occurs in questions that, for example, ask students about the highest education level of either parent or about the level of education they themselves expect to complete. In order to consider this subpopulation as part of the population under study, we need to tag the don't know response as missing and therefore requiring imputation.

Types of variables in TIMSS

TIMSS datafiles contain different variable types: continuous, binary, nominal, and ordinal. Continuous variables are those that have an infinite number of possible values, such as age, plausible values in mathematics and in science, minutes spent teaching mathematics per week to a class, and total school enrollment. Binary variables are nominal variables that have two categories, for example, gender, whether or not students were born in the participating country, and possessions at home, such as a calculator.

Nominal variables are those that have more than two categories, such as whether or not the students' parents were born in the participating country. Finally, ordinal variables, although similar to nominal variables, differ from the latter because the variables are clearly ordered. Examples of ordinal variables include the highest level of education attained by either parent and the amount of time the student spends watching television or video within a specified time period (e.g., weekly). Rating scales is another category of variables that can be considered ordinal. They include the customary four-or five-point Likert scale variables of, for example, strongly disagree, disagree, agree, or strongly agree (with a statement or proposition).

Illustrative analysis

So far we have mainly discussed the approaches used to generate multiply imputed datasets. We have also addressed how MICE could potentially be used in relation to TIMSS background files. In this section, we focus on implementing MICE to missing values of variables contained in the files encompassing background data from the students who participated in TIMSS in Tunisia.¹ We begin by defining our analysis model. We then use all the variables of the analysis model in the imputation model, and follow

this by assessing the missing data in order to determine their pattern and the "mechanism" producing that pattern. We also discuss the different diagnostics we used to determine whether the imputations were reasonable or whether the procedure needed to be modified. Finally, we present our analysis of the multiply imputed data.

The analysis model

We decided to apply our MICE approach to a study examining the relationship between mathematics performance and science performance of the Grade 8 Tunisian students as well as their socioeconomic status and their respective schools' resources. Since the Coleman report of 1966 (Coleman et al., 1966), an extensive body of literature has built up that explores and identifies the factors associated with students' achievement in developing and developed countries.

Socioeconomic status and school resources are the variables most discussed in the literature. We therefore decided that our analysis model should be as follows:

 $T_{ics} = \alpha_0 + \alpha_1 F_{ics} + \alpha_2 R_{cs} + \varepsilon_{ics}.$

Here, T_{ics} is the first plausible value in mathematics (or in science) provided by TIMSS 2007. F_{ics} reflects the socioeconomic status of the student *i* in class *c* and school *s*, and ε is the error term that has a school-level element and a class-level element in addition to the individual-student element (Moulton, 1986). R_{cs} is the index of availability of school resources for mathematics instruction in class *c* at school *s*. Table 2 describes the variables used in our analysis. We included all of these variables in our imputation model.

Assessing missing data

This step can be accomplished by examining the pattern of missing data as well as exploring the missing-data mechanism. Scrutiny of our data revealed an arbitrary missing pattern, as can be seen in the Appendix (Figure 9) to this paper. Sample statistics indicated that only 76% of observations were complete; the remaining 24% of the data thus contained missing values. The output of the misstable nested presented immediately below clearly shows that the missing values of the different variables were not nested because 10 statements describe the missing value pattern, thereby confirming the arbitrary nature of the missing data pattern (see Misstable nested).

Misstable nested

- 1. Index_math_ress (23)
- 2. Calculator (70)
- 3. Parents_born_country (77)
- 4. Desk (78)
- 5. Dictionary (84)
- 6. Books (109)
- 7. Internet_connection (172)
- 8. Work_paid_job (180)
- 9. Computer (240)
- 10.Parents_highest_ed_level (364)

Table 2 Description of the different variables

Variable	Type of variable	Description
Age	Continuous	
Number of books (Books)	Ordinal	Five categories:
		1 Less than one shelf
		2 One shelf
		3 One bookcase
		4 Two bookcases
		5 Three or more bookcases
Possessing calculator (Calculator)	Binary	Two categories:
		1 Yes
		0 Otherwise
ossessing computer (Computer)	Binary	Two categories:
		1 Yes
		0 Otherwise
ossessing study desk (Desk)	Binary	Two categories:
		1 Yes
		0 Otherwise
ossessing a dictionary (Dictionary)	Binary	Two categories:
		1 Yes
		0 Otherwise
ossessing internet connection	Binary	2 Two categories:
nternet_connection)		1 Yes
		0 Otherwise
arents' highest education level	Ordinal	Five categories:
Parents'_highest_ed_level)		1 University degree
		2 Completed postsecondary but not university
		3 Completed upper-secondary education
		4 Completed lower-secondary education
		5 Less than lower-secondary education
arents born in country (Parents_born_country)	Nominal	Three categories:
		1 Both parents born in country
		2 Only one parent born in country
		3 Neither parent born in country
Gender of student (Female)	Binary	Two categories:
		1 Female
		0 Male
pend time work on paid jobs (Work_paid_job)	Ordinal	Five categories:
		1 No time
		2 Less than one hour
		3 One to two hours
		4 More than two hours but less than four/
		5 Four or more hours

Index of availability of mathematics resources	Ordinal	Three categories:
(Index_math_ress)		1 High
		2 Medium
		3 Low
First plausible value in mathematics (BSMMAT01)	Continuous	
First plausible value in science (BSSSCI01)	Continuous	

 Table 2 Description of the different variables (Continued)

It is pertinent to note at this point that imputation using chained equations does not require the variables to be imputed in a specific order. The prediction models do not follow a specific order because, by default, the software imputes variables from the most observed to the least observed.

Having determined the pattern of missingness, we next needed to determine the mechanism driving it. The reason for this step relates to the fact that multiple imputation relies on certain assumptions. One assumption is that the data are MAR. However, the missingness at random assumption is not testable. Nevertheless, we can test the assumption of MCAR^m data against MAR data (Marchenko & Eddings, 2011a) by, for example, creating a new dummy variable for each existing variable, which takes the value of 1 if a given observation is missing that variable and of 0 if it is not.

The next step is to run a logistic regression analysis, with the missing data dummy as the dependent variable, over the number of completely observed variables. If the observed variables predict missingness, then the data are MAR rather than MCAR. Furthermore, if there are no strong associations between missingness and the observed values, then the data are MCAR rather than MAR (Marchenko & Eddings, 2011). Our data showed no strong associations between missingness and the observed values, so we assumed that the data were MCAR.ⁿ

Multiple imputation diagnostics

Imputation techniques require some diagnostics to help determine whether or not the imputations are reasonable. Recent research by a number of investigators has led to the development of important diagnostics that can be utilized before and after the imputation process (Abayomi, Gelman, & Levy, 2008; Carpenter & Kenward, 2008; Graham, 2009; Marchenko & Eddings, 2011; Raghunathan & Bondarenko, 2007; Stuart et al., 2009; Su, Gelman, Hill, & Yajima, White et al., 2011; 2011; Van Buuren & Oudshoorn, 2011).

Testing individual models before imputing A strength of MICE is that it allows modeling of each variable via a model tailored to its distribution. A good imputation model depends on the success of all the individual models. If a single model fails to converge, the imputation process as a whole fails. Checking the imputation models encompasses the following steps:

1. *Checking for convergence*: The imputation model must run successfully. Sometimes, complex models such as mlogit fail to converge if the number of categorical variables used is large. The reason why is because the large number can lead to small cell sizes. Pinning down the cause of the problem requires dropping some variables and then added them in, in small groups, until the model runs successfully. Although this method is time consuming, it does result in a workable model. Another alternative is to study the correlations between the nominal variable to be imputed and the predictors, and to choose only those that correlate significantly with the variable in question.

2. *Handling problems of perfect prediction*: Checking the model is a crucial step in the process of detecting perfect prediction. Perfect prediction occurs in regression models for categorical outcomes. Such models include logistic, ordered logistic, and multinomial logistic. Perfect prediction occurs whenever the outcome of any predictor variable within a category is always 0 (or always 1). It usually leads to infinite coefficients with infinite standard errors, and it often causes instability during estimation.

When endeavoring to resolve this problem, we have two options, one of which consists of discarding the variables responsible for perfect prediction. However, by doing this, we may defeat the whole purpose of multiple imputation, unless we have no intention of using the variables in further analyses. The second option is to handle perfect prediction directly during imputation via the augment option. This option, suggested by White, Daniel, and Royston (2010), is available for all categorical imputation methods (logit, ologit, and mlogit), and it allows us to add to the data extra observations with small weights during estimation of model parameters so that no prediction is perfect (White et al., 2010). For further details of this approach, see the section titled "The Issue of Perfect Prediction During Imputation of Categorical Data" in the STATA 12 multiple imputation documentation provided by the software STATA 12.

3. Adding interaction terms: Sometimes, imputing on subsamples is required for two reasons. The first is to ensure we have at hand the correct functional form of the imputation model, and the second is to preserve higher-order dependencies (Collins, Schafer, & Kam, 2001; Rubin, 1996; Schafer, 2001). For instance, we can investigate various interaction effects with respect to gender, race, income, age, and location (i.e., urban/rural). Thus, one way to check for misspecification is to add these interaction terms to the models in order to determine if they are important (Graham, 2009). However, we cannot include a large number of interactions in the imputation models because of computational limitations (Stuart et al., 2009). Also, in "clustered data", the members of the same cluster can share characteristics. In this situation, we can include *the cluster variable* (either the strata or the primary sampling units) in the imputation model as an indicator variable (Graham, 2009).

To ensure that each of our imputation models were appropriate, we thoroughly checked them by using the total student weight to weigh each observation in each model. Our conditional models were therefore as follows (See the conditional models below):

Conditional models:	
Index math res:	ologit Index math ress i.Parents born country i.Desk
	i Parents highest ed level [pweight = TOTNGT]
Calculator:	logit Calculator i. Index math ress i. Parents born country
	i.Desk i.Dictionary i.Books i.Internet connection
	i.Work paid job i.Computer i.Parents highest ed level Female
	Age BSMMAT01 BSSSCI01 [pweight = TOTWGT]
Parents born-y:	mlogit Parents born country i. Index math ress i. Calculator
_	i.Desk i.Dictionary i.Books i.Internet connection
	i.Work paid job i.Computer i.Parents highest ed level Female
	Age BSHMAT01 BSSSCI01 [pweight = TOTWGT]
Desk:	logit Desk i.Index math ress i.Calculator
	i.Parents born country i.Dictionary i.Books
	i.Internet connection i.Work paid job i.Computer
	i.Parents highest ed level Female Age BSMMAT01 BSSSCI01
	[pweight = TOTWGT]
Dictionary:	logit Dictionary i.Index_math_ress i.Calculator
	i.Parents_born_country i.Desk i.Books i.Internet_connection
	i.Work_paid_job i.Computer i.Parents_highest_ed_level Female
	Age BSHMAT01 BSSSCI01 [pweight = TOTWGT]
Books:	ologit Books i.Index_math_ress i.Calculator
	i.Parents_born_country i.Desk i.Dictionary
	i.Internet_connection i.Work_paid_job i.Computer
	i.Parents_highest_ed_level Female Age BSMMAT01 BSSSCI01
	[pweight = TOTWGT]
Internet_con~n:	logit Internet_connection i.Index_math_ress i.Calculator
	i.Parents_born_country i.Desk i.Dictionary i.Books
	i.Work_paid_job i.Computer i.Parents_highest_ed_level Female
	Age BSMMAT01 BSSSCI01 [pweight = TOTWST]
Work_paid_job:	ologit Work_paid_job i.Index_math_ress i.Calculator
	i.Parents_born_country i.Desk i.Dictionary i.Books
	i.Internet_connection i.Computer i.Parents_highest_ed_level
-	Female Age BSMMAT01 BSSSCI01 [pweight = TOTWGT]
Corputer:	logit Computer i.Index_math_ress i.Calculator
	i.Parents_born_country i.Desk i.Dictionary i.Books
	i.Internet_connection i.Work_paid_job
	1.Parents_highest_ed_level Female Age BSMMATU1 BSSSCIUL
Deserts birt 1	[pweight = TOTWGT]
Farents_high~1:	ologit warents highest ed level 1. Index math_ress
	1. Calculator 1. Parents porn_country 1. Desk 1. Dictionary
	1.BOOKS 1.Internet_connection 1.work_paid_job 1.Computer
	remare age bannarul BSSSCIUI [pweight = TUTWeT]

Imputation process and convergence check We used MICE to draw five multiple imputations per missing value,^o and repeated the process through 100 cycles. As is clear from the output below, we successfully imputed all the incomplete values (Figure 2).

Our next step involved using frequency tables to check if the imputed data of the categorical variables fitted the observed variable.^P The frequency tables that follow are from the first and the last imputation (m = 1 and m = 5), as well as from the observed data (m = 0) of some of the selected variables. Note that the observed and the imputed values are relatively similar (Figures 3, 4, 5, 6, 7 and 8).

Results

In this section, we focus on our analysis of the imputed datasets. We used standard statistical procedures for this work. We began by using the survey regression technique to compute the estimation on the complete data. We then used this technique to compute the five imputed

Performing chained iterations		
Multivariate imputation	Imputations	= 5
Chained equations	added	= 5
Imputed: m=1 through m=5	updated	= 0
Initialization: monotone	Iterations	= 500
	burn-in	= 100
<pre>Index_math_r~s: ordered logistic regress Calculator: logistic regression Parents_born~y: multinomial logistic reg- Desk: logistic regression Dictionary: logistic regression Books: ordered logistic regress Internet_con~n: logistic regression Work_paid_job: ordered logistic regress Computer: logistic regression Parents_high~l: ordered logistic regress</pre>	aion greasion aion aion	

	Observations per æ			
Variable	Complete	Incomplete	Imputed	Total
Index_math_r~s	4057	23	23	4080
Calculator	4010	70	70	4080
Parents_born-y	4003	77	77	4080
Desk	4002	78	78	4080
Dictionary	3996	84	84	4080
Books	3971	109	109	4080
Internet con-n	3908	172	172	4080
Work paid job	3900	180	180	4080
Computer	3840	240	240	4080
Parents high-1	3716	364	364	4080

Figure 2 Imputation of the incomplete values.

-> tab Books			
GENINR OF BOOKS IN YOUR HOME	Freq.	Percent	Cum.
NONE OR VERY FEW (0 TO 10 BOOKS)	1,165	29.34	29.34
ONE SHELF (11 TO 25 BOOKS)	1,632	41.10	70.44
ONE BOOKCASE (26 TO 100 BOOKS)	844	21.25	91.69
TWO BOOKCASES (101 TO 200 BOOKS)	202	5.09	96.78
THREE OR MORE BOOKCASES (OVER 200 BOOKS	128	3.22	100.00
Total	3,971	100.00	

-> tab Books			
GENINR OF BOOKS IN YOUR HOME	Freq.	Percent	Cum.
NONE OR VERY FEW (0 TO 10 BOOKS)	1,205	29.53	29.53
ONE SHELF (11 TO 25 BOOKS)	1,673	41.00	70.54
ONE BOOKCASE (26 TO 100 BOOKS)	866	21.23	91.76
TWO BOOKCASES (101 TO 200 BOOKS)	207	5.07	96.84
THREE OR MORE BOOKCASES (OVER 200 BOOKS	129	3.16	100.00
Total	4,080	100.00	

datasets. After that, we performed 30 imputations and reanalyzed the estimation results, all of which appear in the Appendix (Figures 11, 12, 13, 14, 15, 16 and 17) to this paper.

As we mentioned earlier, our goal was to study the impact of SES variables and school resources on students' performance in mathematics and science. Although our analysis was conducted over the first plausible values in mathematics and the first plausible value in science, we report here only the results of the first plausible value in mathematics because the difference between the two results was minor.⁴ The listwise deletion of the original data is reported in Figure 11 in the Appendix.

We next generated five imputed datasets (Figure 12 in the Appendix) running the analyses separately on each dataset, and combining, by using Rubin's (1987) rules, the parameter estimates and standard errors into a single inference.^r The resulting estimates accounted for both within- and between-imputation uncertainty, reflecting the fact that the imputed values were not observed values.

On looking at Figure 12 we observe first that the multiple imputation estimates are quite similar to those obtained from the complete case analysis. However, after imputation, we can see that the standard errors are smaller and the confidence intervals narrower. Three statistics require interpretation at this point. They are the average relative variance increase (RVI), the largest fraction of missing information (FMI), and the degrees of freedom (DF).^s

The average relative variance increase (RVI) due to nonresponse is small: 0.0407. It indicates the increase in variance of the estimates because of the missing values: the closer the number is to zero, the less effect missing data have on the variance of the estimate. The largest fraction of missing information (FMI), also called the rate of missing information (Graham et al., 2007; Schafer, 2001; Schafer & Olsen, 1998), reports the largest of all the FMI on coefficient estimates due to missingness. This statistic is particularly relevant because it lets us know whether or not the standard errors are affected by the variability of the imputed values across (in our case) the five datasets (Schafer, 2001).

-> tab Books			
GENINR OF BOOKS IN YOUR HOME	Freq.	Percent	Cum.
NONE OR VERY FEW (0 TO 10 BOOKS)	1,208	29.61	29.61
ONE SHELF (11 TO 25 BOOKS)	1,670	40.93	70.54
ONE BOOKCASE (26 TO 100 BOOKS)	867	21.25	91.79
TWO BOOKCASES (101 TO 200 BOOKS)	205	5.02	96.81
THREE OR MORE BOOKCASES (OVER 200 BOOKS	130	3.19	100.00
Total	4,080	100.00	

-> tab Work_paid_job			
GEN\SPEND TIME\WORK PAID JOB	Freq.	Percent	Cum.
NO TIME	3, 204	82.15	82.15
LESS THAN 1 HOUR	199	5.10	87.26
1 TO 2 HOURS	152	3.90	91.15
MORE THAN 2 BUT LESS THAN 4 HOURS	108	2.77	93-92
4 OR MORE HOURS	237	6.08	100.00
Total	3,900	100.00	

When comparing the estimated FMI (see Figure 14) to the percentage of missing data (Table 3), we can see that the estimated percentage rate of missing information is substantially lower than the actual percentage of the imputed values (or missing data). This outcome tells us that the imputation procedure is making effective use of other information to predict the missing data (Schafer, 2001).

We can also use FMI to judge if the number of imputations is sufficient or not for analysis (White et al., 2011). A rule of thumb with respect to FMI is that the number of imputations $M > = 100^{*}$ FMI. In our case, FMI was 0.1565 and the number of imputations was five. Therefore, according to this rule, we need to increase M.

As shown in Figure 13 degrees of freedom (DF) could be obtained for each coefficient. Averaging out at 131.99, the degrees of freedom are large. The reason is that multiple imputation degrees of freedom not only depend on the number of imputations but also inversely relate to the RVI. Also, and again as evident in Figure 13 the degrees of freedom were obtained under a small sample-assumption adjustment, which was determined by the type of reference distribution used for inference. The model F test assumes that the fractions of missing information of all coefficients are equal (equal FMI) and thus rejects the hypothesis that all coefficients are equal to zero.

Finally, we used the Taylor linearization variance estimation method to compute the variance estimates in each completed data analysis. Here we can see, in Figure 13 that the smallest degrees of freedom correspond to the coefficient for *parents'_highest_ed_level* (2, 3, 4, and 5) (parents' highest attained level of education) because it contains the highest share of missing values. The largest degrees of freedom can be observed for the coefficient *age*, indicating that the loss of information due to nonresponse is the smallest for this coefficient. Figure 13 also displays, as a percentage, the increase in

-> tab Work_paid_job			
GEN\SPEND TIME\WORK PAID JOB	Freq.	Percent	Cum.
NO TIME	3, 345	81.99	81.99
LESS THAN 1 HOUR	207	5.07	87.06
1 TO 2 HOURS	164	4.02	91.08
MORE THAN 2 BUT LESS THAN 4 HOURS	112	2.75	93.82
4 OR MORE HOURS	252	6.18	100.00
Total	4,080	100.00	

-> tab Work_paid_job			
GEN\SPEND TIME\WORK PAID JOB	Freq.	Percent	Cum.
NO TIME	3, 348	82.06	82.06
LESS THAN 1 HOUR	211	5.17	87.23
1 TO 2 HOURS	161	3.95	91-18
MORE THAN 2 BUT LESS THAN 4 HOURS	111	2.72	93.90
4 OR MORE HOURS	249	6.10	100.00
Total	4,080	100.00	

standard errors of the parameters due to missingness. Apparent is the increase from 0.03% (though negligible) to 8.20% in the standard errors for the coefficients.

In order to provide information about the variance specific to each parameter, Figure 14 displays the within-imputation variance and the between-imputation variance (see Rubin's rules in the Appendix). It also sets out RVI, FMI specific to each parameter, and the relative efficiency of the overall imputation, which can be also used as an approximation when endeavoring to determine the number of imputations (Graham et al., 2007; White et al., 2011).

What we notice first in Figure 14 is that the between-imputation variability is very small relative to the within-imputation variability. The second aspect of interest is that *age* and *female* have the smallest within-imputation and between-imputation variances. As expected, parents' highest level of education has the highest RVI and FMI. The reported relative efficiencies are high for all the coefficient estimates, suggesting the need to increase the number of imputations. These estimates are useful in indicating whether or not we should increase the number of imputations. However, we could also compute the Monte Carlo errors (MCE) of the estimates in order to help us reach this determination (White et al., 2011).

We accordingly again conducted the regression over the five imputed datasets involving the computation of the MCE. White et al. (2011) suggest the following guidelines for determining an acceptable amount of MCE:

- 1. The Monte Carlo error of a coefficient should be less than or equal to 10% of its standard error.
- 2. The Monte Carlo error of a coefficient's *T*-statistic should be less than or equal to 0.1.
- 3. The Monte Carlo error of a coefficient's *P*-value should be less than or equal to 0.01 if the true *P*-value is 0.05, or 0.02 if the true *P*-value is 0.1.

A look at the estimates in Figure 15 makes clear that these guidelines were not met for the following variables: *computer, internet-connection, work on paid job* (2, 3, and 4), and *parents'_highest_ed_level* (2, 3, 4 and 5). Increasing the number of imputations therefore seemed necessary.

In our example, 24% of the data were missing. Given the recommendation by White et al. (2011) that the number of imputations should be at least equal to the percentage of incomplete cases, we decided to perform 30 imputations. Figure 16 displays the results of this stage of our analysis.^t We can see that the Monte Carlo errors now satisfy the guidelines. In addition, the estimates are quite similar to those obtained from the

Table 3 Number and percentage of missing data

Variable	Missing	Total	Missing (total %)
Books	109	4,080	2.67
Calculator	70	4,080	1.71
Computer	240	4,080	5.88
Desk	78	4,080	1.91
Dictionary	84	4,080	2.05
Internet_connection	172	4,080	4.21
Parents'_highest_ed_level	364	4,080	8.92
Parents_born_country	77	4,080	1.88
Work_paid_job	180	4,080	4.41
Index_math_ress	23	4,080	0.56
Age	0	4,080	0.00
Female	0	4,080	0.00
First plausible value in mathematics (BSMMAT01)	0	4,080	0.00
First plausible value in science (BSSSCI01)	0	4,080	0.00

complete case analysis: the standard errors are smaller (Figure 17), and the confidence intervals are narrower. Increasing the number of imputations has thus led to more precision in computing the *p*-values, standard errors, confidence intervals, and fractions of missing information (Bodner, 2008).

Discussion

In this paper, we have described and evaluated the MICE procedure that can be used to impute missing values of different categories of variables. Although this approach lacks formal theoretical justification, it has the strong advantage of flexibility. Presumably, MICE can be used for TIMSS missing-data problems, given that most variables with missing data in the TIMSS background datafiles are not normally distributed.

The difficulty in implementing MICE lies in the choice of predictor variables and interaction terms. To avoid bias and gain precision, researchers recommend that the imputation models contain—at the least—every variable included in the analysis model. However, the inclusion of interaction terms is a tedious process. A way to determine an interaction is to think of one of the variables as a grouping variable, such as gender (Graham, 2009), and then to carry out separate imputations for females and males.

Another matter associated with implementation of MICE is the issue of weights. TIMSS datafiles contain different kinds of weights, so before imputing the missing data we need to ask ourselves this question: Which weight should I use? As Rutkowski et al. (2010) point out, choice of weights depends on the purpose of the analysis and the research question. The inclusion of weights for each individual imputation makes it easier to ensure that the imputation model is appropriate. The appropriate weight to use when imputing students' missing data is *total student* weight. The weight to use when imputing missing values in the mathematics teacher file is the weight for the *mathematics teacher data*, and the one to use for nonresponse in the school datafile is the *school* weight.

In general, careful modeling is required when using MICE to obtain valid statistical inferences (Marchenko, 2011). Another important point to remember concerns the order in which the imputation models should be imputed. Imputation using chained equations does not require us to specifically order the variables that must be imputed because the software imputes, by default, the variables from the most observed to the least observed.

In this paper, we also focused on the diagnostics of multiple imputation. The objective of this procedure is to identify those imputations that markedly differ from the observed values and then to pin down the cause of the problem. This process should determine if the imputation model should be remodeled or tested, for example, by means of sensitivity analyses, if there is a serious violation of the missingness assumptions. Also, because MICE is an iterative imputation method, its convergence needs to be evaluated.

Deciding on the number of imputations to conduct (especially if the number is likely to exceed the number theoretically considered sufficient—i.e., 5 to 10) is most easily done by computing FMI, the relative efficiency, or Monte Carlo errors (MCE). Studies show that computing MCE is a particularly suitable way of determining the number of imputations. When establishing the fraction of missingness, we can impute almost any fraction of missing data, provided that we do the imputation correctly and do not violate the assumption of MAR. However, if the fraction of missing data is large, say in the order of 30% to 50%, imputation methods must be applied with great caution (White et al., 2011).

In our illustrative analysis, we applied MICE to the student background data in the TIMSS 2007 datafile for Tunisia. We included all the variables used for imputation in the analysis model, and then performed five imputations, followed by another 30 imputations, after which we compared the results with the complete case analysis. The results showed that the estimates were relatively similar to those obtained from the complete case analysis. However, after imputation, the standard errors were smaller and the confidence intervals narrower.

Conclusion

In this paper, we reviewed two approaches to multiple imputation—the multivariate normal model and the chained equations approach. Multiple imputation is becoming easier and more tempting to use thanks to the existence of different software packages. It is receiving growing attention from researchers in various fields, some of whom consider it to be "the-state-of-the art" missing-data technique (Schafer & Graham, 2002, p. 173) because it provides unbiased parameter estimates, does not reduce the variance of the variable in question, and preserves the entire dataset. The outcomes of our application of MICE to TIMSS data exhibiting nonresponse suggest that empirical research can be conducted effectively with whole datasets, thereby leading to more accurate conclusions about the information contained not only in the TIMSS databases but also in the databases of other large-scale educational studies and surveys.

Endnotes

^a See Acock (2005) and Schafer and Graham (2002) for descriptions of each of these approaches and for a point-by-point analysis of situations in which they are problematic.

^b Different software packages are available to implement the multiple imputation technique. See, for instance, Acock (2005), Horton and Kleinman (2007), and Mayer, Muche, and Hohl (2012).

^c http://www.ats.ucla.edu/stat/stata/seminars/missing_data/mi_in_stata_pt1.htm (IDRE, 2013a).

^d See STATA 12 documentation.

^e This program can be downloaded free of charge at http://sites.stat.psu.edu/~jls/ misoftwa.html. NORM offers the user a number of normalizing transformations that can be implemented prior to the implementation phase and variables can be restored to their original metrics prior to analysis.

^f See also Van Buuren and Oudshoorn (2011) for a list of studies in which MICE has been used.

^g http://www.ats.ucla.edu/stat/stata/seminars/missing_data/mi_in_stata_pt2.htm (IDRE, 2013b).

^h This quantity figures prominently in multiple imputation. Also called the rate of missing information, it differs from the percentage of missing data. See Graham et al. (2007) and Schafer and Olsen (1998) for its formula and more discussion on it.

ⁱ The UK700 data was a multi-center study conducted in four inner-city areas. Participants were between the ages of 18 and 65, had a diagnosed psychotic illness, and experienced two or more psychiatric hospital admissions, the most recent within the previous two years. See White et al. (2011).

^j See the TIMSS website: timss.bc.edu.

^k Check whether the question is applicable or not to the country under study. If it is not applicable, then it cannot be considered as missing and should be removed from the analysis model.

¹ Recently, Reiter and Si (2013) applied a different methodology (a fully Bayesian joint modeling approach) to impute missing background TIMSS 2007 data. They claim this approach offers advantages over MICE because it can capture complex dependencies and be applied effectively to nonresponse within large-scale assessments.

^m It is also possible to test whether the MCAR assumption is plausible by using the multivariate test proposed by Little (1988).

ⁿ Because testing the assumption of MAR against MNAR is impossible, it is always necessary to think about how the data being analyzed were collected (Marchenko & Eddings, 2011; Stuart et al., 2009).

^o It took roughly one hour to draw five multiple imputations.

^p The convergence of imputed continuous variables can be assessed using trace plots (see Marchenko, 2011).

^q Science results can be provided upon request from the authors.

^r See the Appendix to this paper.

^s We also referred to STATA 12 documentation when discussing the output.

^t It took us roughly six hours to draw 30 imputations.

Appendix

A) Rubin's rules

After the creation of M imputed datasets, the M sets of parameter estimates and standard errors are combined into a single inference following rules established by Rubin (1987).

Let $\hat{Q}_1...,\hat{Q}_M$ be the parameter estimates of Q obtained from M imputed datasets. Combine these parameter estimates into a single point estimate by taking the arithmetic average of the parameter across the M analyses as follows:

$$\bar{Q} = \frac{1}{M} \sum_{i=1}^{M} \hat{Q}_i.$$

The standard errors combine in a similar way. Note, however, that they require the calculation of two components: the within-imputation variance and the between-imputation variance. The within-imputation variance is computed by taking the arithmetic average of the M squared standard errors as follows:

$$\bar{Q} = \frac{1}{M} \sum_{i=1}^{M} \hat{U}_i.$$

where, \hat{U}_i is the squared standard error from the ith dataset. The between-imputation variance is the variance of the parameter estimate itself across the *M* imputations:

$$B = \frac{1}{M} \sum_{i=1}^{M} (\hat{Q}_{i} - \bar{Q})^{2}.$$

The total variance is:

$$T = \bar{U} + \left(1 + \frac{1}{M}\right)B.$$

The overall standard error is:

$$S.E = \sqrt{\bar{U} + \left(1 + \frac{1}{M}\right)B}.$$

A significance test of the null hypothesis Q = 0 is performed by comparing the ratio $t = \frac{\bar{Q}}{SE}$ to the same *t*-distribution.

B) the missing data pattern

Figures 9 and 10.

C) Outputs Output A.1

Figure 11. Output A.2 Figure 12. Output A.3 Figure 13. Output A.4 Figure 14. Output A.5 Figure 15. Output A.6 Figure 16. Output A.7 Figure 17.

Missing-value patterns													
		(1	mea	ns	COL	ple	ete)					
	_		att	ern			-		-	~			
_	Percent	1	2	3	4		5	6	7	8	9	10	_
	764	1	1	1	1		1	1	1	1	1	1	-
	7	1	1	1	1		1	1	1	1	1	0	
	3	1	1	1	1		1	1	1	1	0	1	
	3	1	1	1	1		1	1	1	0	1	1	
	2	1	1	1	1		1	0	1	1	1	1	
	1	1	1	1	1		1	1	0	1	1	1	
	<1	1	1	0	1		1	1	1	1	1	1	
	<1	1	0	1	1		1	1	1	1	1	1	
	<1	1	1	1	1		0	1	1	1	1	1	
	<1	1	1	1	1		1	1	0	1	0	1	
	<1	1	1	1	0		1	1	1	1	1	1	
	<1	1	1	0	1		1	1	1	0	1	1	
	<1	0	1	1	1		1	1	1	1	1	1	
	<1	1	1	1	1		1	1	1	1	0	0	
	<1	1	1	1	1		0	1	0	1	0	1	
	<1	1	1	1	1		1	0	1	1	1	0	
	<1	1	1	1	1		1	1	0	1	1	0	
	<1	1	1	1	1		1	1	1	0	1	0	
	<1	1	0	1	0		0	1	0	1	0	1	
	<1	1	0	1	1		1	1	0	1	1	1	
	<1	1	0	1	1		1	1	1	1	0	1	
	<1	1	1	0	1		1	1	1	1	0	1	
	<1	1	1	1	0		0	1	0	1	0	1	
	<1	1	1	1	0		0	1	0	1	1	1	
	<1	1	1	1	0		1	1	1	1	1	0	
	<1	1	1	1	1		0	1	0	1	1	1	
	<1	1	1	1	1		1	0	1	0	1	1	
	<1	1	1	1	1		1	1	0	0	0	1	
Figure 9 T	he missing-value par	ttern.											



Number of strat	ta =	1		Number of	oba	=	3084
Number of PSUs	=	149		Population	1 size	= :	127962.11
				Design df		=	148
				F(23,	126)	=	37.36
				Prob > F		=	0.0000
				R-squared		=	0.2801
		Linearized					
BSMMAT01	Coef.	Std. Err.	t	P> t	[954	Conf.	Interval]
Female	-28.32383	2.195509	-12.90	0.000	-32.66	5242	-23.98523
Age	-18.61961	1.200102	-15.52	0.000	-20.99	9116	-16.24800
Books2	-3.422428	2.770517	-1.24	0.219	-8.89	308	2.052453
Books3	13.1543	3-229229	4.07	0.000	6.772	947	19.5356
Books4	35.51059	5.72114	6.21	0.000	24.20	1491	46.81620
Books5	23.61455	6.773489	3.49	0.001	10.2	293	36.99979
Calculator	11.34341	3.087481	3.67	0.000	5.242	2173	17.4446
Computer	8.985114	2.598361	3.46	0.001	3.850	1435	14.11979
Desk	-2.293052	2.978127	-0.77	0.443	-8.178	196	3-592091
Dictionary	15.82431	3.377788	4.68	0.000	9.149	391	22.49924
Internet_co~n	-3.415926	3.271805	-1.04	0.298	-9.881	413	3.049562
Work_paid_j~2	-26.34074	4.743365	-5.55	0.000	-35.71	421	-16.96727
Work_paid_j~3	-17.85464	5.851141	-3.05	0.003	-29.41	721	-6.29207
Work_paid_j-4	-25.04601	6.227007	-4-02	0.000	-37.3	5134	-12.74068
Work_paid_j~5	-8.507706	4-820522	-1.76	0.080	-18.03	365	1.018236
Parents_hig~2	-11.78954	4.404349	-2.68	0.008	-20.49	307	-3-086004
Parents_hig~3	-20.15292	4.403552	-4.58	0.000	-28.85	5488	-11.45096
Parents_hig~4	-19.15754	4.420211	-4.33	0.000	-27.89	242	-10.42267
Parents_hig~5	-10.3334	5.239073	-1.97	0.050	-20.68	8645	-0196481
Parents_bor~2	-18.60422	5.522622	-3.37	0.001	-29.5	5176	-7.690845
Parents_bor-3	-26.70393	5.902863	-4.52	0.000	-38.36	5871	-15.0391
Index_math_~2	-2.185334	7.065016	-0.31	0.758	-16.14	667	11.770
Index_math3	-2.230805	7.398208	-0.30	0.763	-16.85	5057	12.3889
cons	701.4522	19.79419	35.44	0.000	662.3	364	740.5679

.on			N	umber of	oba	=		4080
1	1 50		P	opulatio	n si:	ze =	169	107.67
			A	verage H	IVI	=		0.0407
			L	argest 1	MI	=		0.1565
			C	omplete	DF	=		149
samp	le		D	P: 1	nin	=		75.33
					vg	=		131.99
					N AX	=		146.95
al F	IN		F	(23,	146.4	4) =		67.22
ariz	ed		P:	rob > F		=		0.000
Coe	f. Std.	Err.	t	P> t		[954 Co	nf.	Interval
.508	49 1.80	59019	-16.32	0.000) .	-34.2022	5	-26.8147
.518	91 1.02	8491	-18.01	0.000) -	-20.5514	6	-16.4863
-478	52 2.45	9753	-1.01	0.315		-7.34059	1	2.38355
.557	27 3.12	20038	4.02	0.000		6.38810	1	18.7264
-323	83 6.74	7233	3.31	0.001	ļ	8.98765	1	35.6600
.452	19 2.0	3646	4.72	0.000)	7.24102	9	17.6633
.074	08 2.	3774	4.24	0.000)	5.37037	9	14.7777
.114	17 2.45	51921	-1.27	0.200	5 -	-7.96017	1	1.73183
.366	81 3.02	3244	5.74	0.000)	11.3919	6	23.3416
7912	91 3.05	6231	-1.24	0.21		9.84949	4	2.26691
-402	33 4.2	29901	-5.68	0.000		-32.9049	9	-15.8996
-920	11 5.23	3444	-4.00	0.000		-31.2713	4	-10.5688
3746	59 4.4	11115	-2.13	0.03	5 -	-38.9000	5	651763
.348	14 3.99	9519	-2.59	0.011		-18.2682	9	-2.42798
.206	49 4.14	5802	-4.39	0.000) -	-26.4647	7	-9.94821
-489	19 4.1	2906	-4.43	0.000) -	-26.7585	4	-10.2198
.699	27 4.70	8281	-2.24	0.02		-20.1595	7	-1.2389
.708	53 4.63	4788	-4.25	0.000		-28.8853	9	-10.5316
.168	89 5.12	5134	-5.50	0.000	, .	-38.2994	3	-18.0383
1160	84 7.00	7114	-0.13	0.897		-14.7604	2	12.937
6233	03 7.45	8016	-0.35	0.720	5 -	-17.3631	4	12.1165
694.	51 17.0	5519	39.34	0.000)	659.615	6	729.404

Multiple-imputatio	n estimates		Im	putations	=	5	
Survey: Linear reg	urvey: Linear regression			Number of obs			
Number of strata	= 1		Poj	= 16	9107.67		
Number of F303	- 150		Ave	erage RVI	=	0.0407	
			La	rgest FMI	=	0.1565	
			Cor	mplete DF	=	149	
DF adjustment: S	mall sample		DP	: min	=	75.33	
				avg	=	131.99	
				max	=	146.95	
Model F test:	Equal FMI		F(23, 146.4)	=	67.22	
Within VCE type:	Linearized		Pre	ob > F	=	0.000	
						4 Increas	
BSMMAT01	Coef.	Std. Err.	t	P> t	DF	Std. Err	
1. Female	-30-50849	1.869019	-16-32	0.000	146.4	0.2	
Age	-18.51891	1.028491	-18.01	0.000	147.0	0.0	
Books							
2	-2.47852	2.459753	-1.01	0.315	143.4	0.8	
3	12.55727	3.120038	4.02	0.000	138.2	1.5	
4	34.93897	5.031198	6.94	0.000	144.7	0.5	
5	22.32383	6.747233	3.31	0.001	144.3	0.6	
1.Calculator	12.45219	2.63646	4.72	0.000	144.0	0.7	
1.Computer	10.07408	2.3774	4.24	0.000	129.1	2.5	
1.Desk	-3.11417	2.451921	-1.27	0.206	145.4	0.4	
1.Dictionary	17.36681	3.023244	5.74	0.000	146.4	0.2	
1.Internet_con-n	-3.791291	3.056231	-1.24	0.217	107.6	4.6	
Work_paid_job							
2	-24.40233	4.29901	-5.68	0.000	134.1	2.0	
3	-20.92011	5.233444	-4.00	0.000	133.4	2.0	
4	-28.05761	5.477871	-5.12	0.000	123.8	3.0	
Farents_highes~1	-10 34014	2 000510	-2 50	0 011	119 0		
2	-18 20649	4 145802	-4.39	0.000	75.2	3.6	
4	-18 48919	4 172906	-4 43	0.000	110 4	4.3	
5	-10.69927	4.768281	-2.24	0.027	99.9	5.3	
Parents born c-v							
2	-19.70853	4.634788	-4.25	0.000	119.6	3.4	
3	-28.16889	5.125134	-5.50	0.000	143.5	0.7	
Index math ress							
2	9116084	7.007114	-0.13	0.897	145.6	0.3	
3	-2.623303	7.458016	-0.35	0.726	145.7	0.3	
cons	694.51	17.65519	39.34	0.000	145.2	0.4	

Survey: Linear	regression	ates		Imputations		-	
Variance infor	mation						
	Ітр	utation va	riance			Relativ	
	Within	Between	Total	RVI	FMI	efficienc	
1.Female	3.47927	.011633	3.49323	.004012	.00423	-99915	
∆ge	1.05718	.000508	1.05779	-000577	.000759	-99984	
Books							
2	5.95353	-080709	6.05038	-016268	.016513	-99670	
3	9.4436	-242531	9.73464	.030818	.030883	-99386	
4	25.023	-241671	25.313	.01159	-011844	-99763	
5	44.942	-485931	45.5251	-012975	.013229	-99736	
1.Calculator	6.85496	.079965	6.95092	.013998	.014251	-99715	
1.Computer	5.37629	-229785	5.65203	.051289	.050695	-98996	
1.Desk	5.96141	-042089	6.01191	-008472	.008719	-99825	
1.Dictionary	9.10433	.02973	9.14	.003919	.004136	-99917	
1.Internet-n	8.53731	-669361	9.34055	.094085	.090549	-98221	
Work_paidb							
2	17.7592	-601875	18.4815	-040669	-040476	- 991 9	
3	26.2839	-920894	27.3889	-042044	.041806	-99170	
4	28.2532	1.46159	30.0071	-062078	-060944	-98795	
5	18.8095	.540618	19.4582	-03449	.034471	-99315	
Parents_hi-l							
2	14.8995	.913913	15.9962	.073606	-071745	-98585	
3	14.6818	2.08821	17.1877	.170678	.156507	.96964	
4	15.9977	1.17956	17.4131	-08848	.085451	-98319	
5	20.4794	1.88095	22.7365	.110215	.105012	. 9794	
Parents_bo-y							
2	20.0686	1.17722	21.4813	.070392	-068749	-98643	
3	25.8554	.34298	26.267	.015918	.016165	-99677	
Index_math~s							
2	48.7194	.316882	49.0996	-007805	.008049	-99839	
3	55.2292	.327358	55.622	.007113	.007353	-99853	
cons	308.772	2.44461	311.706	-009501	-009751	-99805	

Multiple-imputation Survey: Linear reg	n estimates ression		Im, Nu	putations mber of c	a =	5 1080	
Number of strata	- 1		Po	pulation	size = 16	9107.67	
Number of PSUs	= 150						
			Av	rgest PMI	. =	0.0407	
			Col	mplete DE		149	
DF adjustment: Su	mall sample		DP	: min	-	75.33	
				max	. =	146.95	
Model P test:	Equal PHI		P(23, 14	(6.4) =	67.22	
Within VCE type:	Linearized		Pr	ob > P	-	0.0000	
BSMAT01	Coef.	Std. Err.	t	P>It1	[954 Conf.	. Interval]	
1 81-	-20 50040	1 0/0010	-16 22	0 000	-24 20225	-26 01474	
1. Penale	.0482353	.0053884	0.05	0.000	.0512746	.0474733	
Age	-18.51891	1.028491	-18.01	0.000	-20.55146	-16.48637	
	.0100825	.003881	0.00	0.000	.01/3836	.001312	
Books	-2.47852	2.459753	-1-01	0.315	-7-340591	2.383551	
-	.1270501	.0089389	0.05	0.023	.1419647	.1129582	
3	12.55727	3.120038	4.02	0.000	6.388101	18.72644	
	.220241	.0383371	0.09	0.000	.21101/3	.223/8/6	
4	34.93897	5.031198	6.94	0.000	24.99482	44.88312	
	.2198503	.0168574	0.04	0.000	.210663	.2334546	
	22.32383	6.747233	3.31	0.001	8-987651	35.66001	
	. 3117469	.0273489	0.05	0.000	. 3339893	.2985148	
1.Calculator	12,45219	2,63646	4.72	0,000	7,241029	17,66334	
1. Calculator	.1264637	.0208951	0.07	0.000	.1508749	.1130529	
1.Computer	10.07408	2.3774	4.24	0.000	5.370379	14.77778	
	-2113/6	-069/256	0.21	0.000	. 3101085	1360336	
1.Deak	-3.11417	2.451921	-1.27	0.206	-7.960171	1.731831	
	.0917485	.0207693	0.04	0.014	.0921807	.10858	
1. Dictionary	17,36681	3.023244	5.74	0.000	11,39196	23,34165	
1.MULTOBALY	.0771106	.0093079	0.04	0.000	.0904675	.0662104	
1.Internet_con~n	-3.791291	3.056231	-1.24	0.217	-9.849494	2.266913	
	.3658855	.0510979	0.13	0.047	.3169069	.1183093	
Work_paid_job	-24 40000	4 20001	-5 60	0.000	-22 00400	-15 000/0	
2	. 3469509	.08395	0.18	0.000	-32.90199	.4924553	
3	-20.92011	5.233444	-4.00	0.000	-31.27134	-10.56887	
	. 1291607	.0757287	0.12	0.000	.3745218	.5270908	
4	-28.05761	5.477871	-5.12	0.000	-38.90002	-17.2152	
	.5406648	.0889103	0.12	0.000	.5932741	.5518511	
5	-9.374659	4.41115	-2-12	0.035	-18,09755	6517635	
3	. 3288216	.0821488	0.06	0.005	.4572025	.2482194	
Becente bisher							
Parents_nighes~1	-10.34814	3.999519	-2.59	0.011	-18.26829	-2.427984	
-	. 4275308	.1027413	0.09	0.003	.576505	.360243	
120	-10 0000				-06 1610-	-0.04000	
3	-18.20619	1.115802	0.17	0.000	-26.46477	-9.948216	
1	-18.48919	4.172906	-4.43	0.000	-26.75854	-10.21983	
	. 1857073	.1558721	0.07	0.000	.8141636	.2109192	
5	-10.69927	4.768281	-2.24	0.027	-20.15957	-1.23897	
	.6133428	.1044138	0.11	0.007	.7804985	.5151746	
Parents born c-v							
2	-19.70853	4.634788	-4.25	0.000	-28.88539	-10.53166	
	- 4852254	.0798033	0.05	0.000	.6439732	.3446923	
3	-28.16889	5.125134	-5.50	0.000	-38,29943	-18.03836	
*	.2619084	.03876	0.05	0.000	.2965349	.2466286	
Today with some							
Index_math_ress	9116084	7.007114	-0.13	0.897	-14,76042	12,9372	
	.2517468	.0398951	0.04	0.028	.2683872	.2593059	
3	-2.623303	7.458016	-0.35	0.726	-17.36314	12.11654	
	.2008742	.0389516	0.04	0.027	.218518	.3081718	
_cons	694.51	17.65519	39.34	0.000	659.6156	729.4044	
	. 6992289	.0613326	0.12	0.000	.6313542	.7811133	
Note: values displa	ayed beneath	estimates a	are Monte	Carlo er	ror estimates		
		<i>c</i> .					
Figure 15 Monte Carlo error estir	nates aft	er tive in	nputat	ions.			

Survey: Linear regression		Nu	mber of a	oba	= 4080	
Number of strata =	1	Po	pulation	size	= 169107.67	
	150	As	verage RV	r	= 0.0389	
		Le	rgest FM	r	= 0.0892	
		Co	mplete D	P	= 149	
DF adjustment: Small sam	ple	DE	: mi	n	= 129.60	
			av	9	= 140.90	
			max	ĸ	= 146.53	
Model F test: Equal	PMI	P	23, 1	46.8)	= 66.65	
Within VCE type: Lineari	zed	Pr	cob > F		= 0.0000	
BSMMAT01	Coef.	Std. Err.	t	P> t	[95% Conf.	Interval
1.Female	-30-42272	1.873415	-16.24	0.000	-34.12523	-26.7202
Ъge	-18.57346	1.029562	-18.04	0.000	-20.60821	-16.538
Books						
2	-2.684849	2.446003	-1.10	0.274	-7.51956	2.14986
3	12.35661	3.119081	3.96	0.000	6.191223	18.52
1	34.5695	5.02572	6.88	0.000	24.63561	44.5033
2	21.62/52	6. /62034	3.20	0.002	8.262236	34.9927
1.Calculator	12.62969	2.656622	4.75	0.000	7.378523	17.8808
1.Computer	9.823648	2.40366	4.09	0.000	5.07095	14.5763
1.Desk	-3.199594	2.481846	-1.29	0.199	-8.105915	1.70672
1.Dictionary	17.47951	3.027778	5.77	0.000	11.49528	23.4637
1.Internet_connection	-3.695225	3.044291	-1.21	0.227	-9.716878	2.32642
Work_paid_job						
2	-24.44465	4.277673	-5.71	0.000	-32.90061	-15.9886
3	-20.64976	5.21708	-3.96	0.000	-30.96238	-10.3371
4	-27.16471	5.545957	-4.90	0.000	-38.1341	-16.1953
5	-8.845043	4.372319	-2.02	0.045	-17-48961	200481
Parents_highest_ed_level						
2	-11.02438	3.970177	-2.78	0.006	-18.87575	-3.17301
3	-18.95198	4.005029	-4.73	0.000	-26.87568	-11.0282
4	-19.10602	4.156805	-4.60	0.000	-27.32845	-10.883
5	-11.43616	4.69449	-2.44	0.016	-20.72256	-2.14976
Parents_born_country						
2	-19.79944	4.537644	-4.36	0.000	-28.76812	-10.8307
3	-27.58359	5.171173	-5.33	0.000	-37.80578	-17.3613
Index_math_ress						
2	67909	6.971752	-0.10	0.923	-14.45727	13.0990
3	-2.465057	7.425814	-0.33	0.740	-17.14061	12.210
00.84	695, 6321	17,61471	39.49	0.000	660,8182	730.446

Survey: Linear regression		N	Number of obs			4080	
Weekse of starts -						60107 67	
Number of PSUs =	150	P.	opulation	size	- 1	PAT01-01	
		A	verage RV	I	=	0.0389	
		L	argest FM	I	=	0.0892	
		C	mplete D	P	=	149	
DF adjustment: Small sar	P adjustment: Small sample					129.60	
			av	g	=	140.90	
			max	×	=	146.53	
Model F test: Equal	PMI	P	(23, 14	46.8)	=	66.65	
Within VCE type: Linear:	ized	P	cob > F		=	0.0000	
	1						
							* Increase
ESPHATU1	Coef.	Std. Err.	t	P>ItI		DP	Std. Err.
1.Female	-30.42272	1.873415	-16.24	0.000		146.1	0.3
Ъge	-18.57346	1.029562	-18.04	0.000		146.1	0.30
Books							
2	-2.684849	2.446003	-1.10	0.274		144.0	0.90
3	12.35661	3.119081	3.96	0.000		143.2	1.19
4	34.5695	5.02572	6.88	0.000		143.7	1.05
5	21.62752	6.762094	3.20	0.002		144.7	0.70
1.Calculator	12.62969	2.656622	4.75	0.000		143.5	1.11
1.Computer	9.823648	2.40366	4.09	0.000		138.2	2.5
1.Deak	-3.199594	2.481846	-1.29	0.199		141.4	1.70
1.Dictionary	17.47951	3.027778	5.77	0.000		145.2	0.6
1.Internet_connection	-3.695225	3.044291	-1.21	0.227		132.6	3.95
Work paid job							
2	-24.44465	4.277673	-5.71	0.000		142.4	1.4
3	-20.64976	5.21708	-3.96	0.000		142.9	1.2
4	-27.16471	5.545957	-4.90	0.000		133.4	3.70
5	-8.845043	4.372319	-2.02	0.045		139.5	2.20
Parents highest ed level							
2	-11.02438	3.970177	-2.78	0.006		135.8	3.10
3	-18.95198	4.005029	-4.73	0.000		129.6	4.6
4	-19.10602	4.156805	-4.60	0.000		132.3	4.04
5	-11.43616	4.69449	-2.44	0.016		131.6	4.19
Parents born country							
	-19.79944	4.537644	-4.36	0.000		144.6	0.78
3	-27.58359	5.171173	-5.33	0.000		142.4	1.43
Index math reas							
2	67909	6.971752	-0.10	0.923		146.5	0-1
3	-2.465057	7.425814	-0.33	0.740		146.5	0-11
3							

Competing interests

The authors declare that they have no competing interests.

Acknowledgement

We would like to acknowledge the helpful and constructive comments of the three anonymous reviewers of this paper.

Received: 28 August 2013 Accepted: 3 September 2013 Published: 16 September 2013

References

Abayomi, K, Gelman, A, & Levy, M. (2008). Diagnostics for multivariate imputations. *Applied Statistics*, 57(Series C, Part 3), 273–291.

Acock, AC. (2005). Working with missing data. Journal of Marriage and Family, 67(4), 1012–1028.

Allison, PD. (2000). Multiple imputation for missing data: a cautionary tale. *Sociological Methods and Research, 28*, 301–309.

Allison, PD. (2002). Missing data. Thousand Oaks, CA: Sage.

Bodner, TE. (2008). What improves with increased missing data imputations? *Structural Equation Modeling*, 15, 651–675. Carpenter, J, & Kenward, M. (2008). *Brief comments on computational issues with multiple imputation*. Unpublished paper retrieved from http://missingdata.lshtm.ac.uk/downloads/mi_comp_issues.pdf.

Coleman, JS, Campbell, E, Hobson, C, McPartland, J, Mood, A, Weinfield, F, & York, R. (1966). Equality of educational opportunity. Washington, DC: US Government Printing Office.

Collins, LM, Schafer, JL, & Kam, CM. (2001). A comparison of inclusive and restrictive strategies in modern missing data procedures. *Psychological Methods*, 6(4), 330–351.

Dempster, AP, Laird, NM, & Rubin, DB. (1977). Maximum likelihood from incomplete data via the EM algorithm. Journal of the Royal Statistical Society: Series B: Methodological, 39(1), 1–38.

Enders, C, Dietz, S, Montague, M, & Dixon, J. (2006). Modern alternatives for dealing with missing data in special education research. Advances in Learning and Behavioral Disabilities, 19, 105–133.

Foy, P, & Olson, JF (Eds.). (2007). TIMSS 2007 international database and user guide. Chestnut Hill, MA: Boston College. Graham, JW. (2009). Missing data analysis: making it work in the real world. Annual Review of Psychology, 60, 549–576. Graham, JW, Olchowski, AE, & Gilreath, TD. (2007). How many imputations are really needed? Some practical clarifications of multiple imputation theory. Prevention Science, 8, 206–213.

Horton, NJ, & Kleinman, KP. (2007). Much ado about nothing: a comparison of missing data methods and software to fit incomplete data regression models. *The American Statistician*, *61*(1), 79–90.

Institute for Digital Research and Education (IDRE). (2013a). *Statistical computing seminars: multiple imputation in Stata, part 1*. Los Angeles, CA: IDRE, University of California at Los Angeles. Retrieved from http://www.ats.ucla.edu/stat/stata/seminars/missing_data/mi_in_stata_pt2.htm.

Institute for Digital Research and Education (IDRE). (2013b). *Statistical computing seminars: multiple imputation in Stata, part 2*. Los Angeles, CA: IDRE, University of California at Los Angeles. Retrieved from http://www.ats.ucla.edu/stat/stata/seminars/missing_data/mi_in_stata_pt2.htm.

Jolani, S, Van Buuren, S, & Frank, LE. (2011). Combining the complete-data and nonresponse models for drawing imputations under MAR. *Journal of Statistical Computation and Simulation*, 1, 1–12. doi:10.1080/ 00949655.2011.639773.

Lee, KJ, & Carlin, JB. (2010). Multiple imputation for missing data: fully conditional specification versus multivariate normal imputation. American Journal of Epidemiology, 171(5), 624–632.

Little, RJA. (1988). A test of missing completely at random for multivariate data with missing values. *Journal of the American Statistical Association*, 83(404), 1198–1202.

Little, RJA. (1992). Regression with missing X's: a review. Journal of the American Statistical Association, 87(420), 1227–1237.

Little, RJA, & Rubin, DB. (2002). Statistical analysis with missing data. Hoboken, NJ: Wiley.

Marchenko, YV. (2011). Chained equations and more in multiple imputation in Stata. Paper presented at the 2011 Italian Stata Users Group Meeting. Retrieved from http://www.stata.com/meeting/italy11/abstracts/italy11_marchenko.pdf. Marchenko, YV, & Eddings, WD. (2011). A note on how to perform multiple-imputation diagnostics in Stata. College

Station, TX: StataCorp. Retrieved from http://www.stata.com/users/ymarchenko/midiagnote.pdf.

Mayer, B, Muche, R, & Hohl, K. (2012). Software for the handling and imputation of missing data: an overview. *Clinical Trials*, 2(1), 1–8. Available online at http://www.omicsgroup.org/journals/JCTR/JCTR-2-103.php?aid=3766.

Meng, XL. (1994). Multiple imputation inferences with uncongenial sources of input. *Statistical Science*, 9(4), 538–558. Moons, KG, Donders, RA, Stijnen, T, & Harrell, FE, Jr. (2006). Using the outcome for imputation of missing predictor

values was preferred. Journal of Clinical Epidemiology, 59, 1092-1101.

Moulton, BR. (1986). Random group effects and the precision of regression estimates. *Journal of Econometrics*, 32(3), 385–397.

Nielsen, SF. (2003). Proper and improper multiple imputation. *International Statistical Review, 71*(3), 593–607. Olson, JF, Martin, MO, & Mullis, IVS (Eds.). (2007). *TIMSS 2007 technical report*. Chestnut Hill, MA: Boston College. Oudshoorn, CGM, Van Buuren, S, & Rijckevorsel, V. (1999). *Flexible multiple imputation by chained equations of the AVO*-

95 survey (TNO Report PG/VGZ/90.45). Leiden, the Netherlands: TNO Prevention and Health.

Peugh, JL, & Enders, CK. (2004). Missing data in educational research: a review of reporting practices and suggestions for improvement. *Review of Educational Research*, 74(4), 525–556.

Raghunathan, TE, & Bondarenko, I. (2007). *Diagnostics for multiple imputations*. Available on the Social Science Research Network website: http://papers.ssrn.com/sol3/papers.cfm?abstract_id=1031750.

Raghunathan, TE, Lepkowski, JM, Van Hoewyk, J, & Solenberger, P. (2001). A multivariate technique for multiply imputing missing values using a sequence of regression models. *Survey Methodology*, *27*, 85–95.

Reiter, JP, & Si, Y. (2013). Nonparametric Bayesian multiple imputation for incomplete categorical variables in large-scale assessment surveys. Unpublished paper retrieved from http://www.stat.duke.edu/~jerry/Papers/jebs12.pdf.

Royston, P, & White, IR. (2011). Multiple imputation by chained equations (MICE): implementation in Stata. *Journal of Statistical Software*, 45(4), 1–20.

Rubin, DB. (1976). Inference and missing data. Biometrika, 63, 581–592.

Rubin, DB. (1977). Formalizing subjective notions about the effect of nonrespondents in sample surveys. *Journal of the American Statistical Association*, *72*, 538–543.

Rubin, DB. (1978). Multiple imputations in sample surveys-a phenomenological Bayesian approach to nonrepsonse. Proceedings of the Survey Research Methods Section of the American Statistical Association, 20–34.

Rubin, DB. (1987). Multiple imputation for non-response in surveys. New York, NY: John Wiley.

Rubin, DB. (1996). Multiple imputation after 18+ years. Journal of the American Statistical Association, 91, 473–489.
 Rutkowski, L, Gonzalez, E, Joncas, M, & Von Davier, M. (2010). International large-scale assessment data: Issues in secondary analysis and reporting. Educational Researcher, 39(2), 142–151.

Schafer, JL. (1997). Analysis of incomplete multivariate data. New York, NY: Chapman and Hall.

Schafer, JL. (1999a). Multiple imputation: a primer. Statistical Methods in Medical Research, 8, 3–15.

Schafer, JL. (1999b). NORM: Multiple imputation of incomplete multivariate data under a normal model [computer software]. University Park, PA: Department of Statistics, Pennsylvania State University.

Schafer, JL. (2001). Analyzing the NHANES III multiply imputed data set: methods and examples prepared for the national center for health statistics. Hyattsville, MD: National Center for Health Statistics.

Schafer, JL. (2003). Multiple imputation in multivariate problems when the imputation and analysis models differ. Statistica Neerlandica, 57(1), 19–35.

Schafer, JL, & Graham, JW. (2002). Missing data: our view of the state of the art. Psychological Methods, 7(2), 147–177.

Schafer, JL, & Olsen, MK. (1998). Multiple imputation for multivariate missing data problems: a data analyst's perspective. Multivariate Behavioral Research, 33, 545–571.

Sterne, JAC, White, IR, Carlin, JB, Spratt, M, Royston, P, Kenward, MG, Wood, AM, & Carpenter, JR. (2009). Multiple imputation for missing data in epidemiological and clinical research: potential and pitfalls. *British Medical Journal*, 339, 157–160.

Stuart, EA, Azur, M, Frangakis, C, & Leaf, P. (2009). Multiple imputation with large data sets: a case study of the children's mental health initiative. American Journal of Epidemiology, 169(9), 1133–1139.

Su, YS, Gelman, A, Hill, J, & Yajima, M. (2011). Multiple imputation with diagnostics (mi) in R: opening windows into the black box. Journal of Statistical Software, 45(2), 1–13.

Taylor, JMG, Cooper, KL, Wei, JT, Sarma, RV, Raghunathan, TE, & Heeringa, SG. (2002). Use of multiple imputation to correct for non-response bias in a survey of urologic symptoms among African-American men. *American Journal of Epidemiology*, *156*, 774–782.

Van Buuren, S. (2007). Multiple imputation of discrete and continuous data by fully conditional specification. Statistical Methods in Medical Research, 16(3), 219–242.

Van Buuren, S, & Oudshoorn, KG. (2011). Mice: Multivariate imputation by chained equations in R. Journal of Statistical Software, 45(3), 1–67.

Van Buuren, S, Boshuizen, HC, & Knook, DL. (1999). Multiple imputation of missing blood pressure covariates in survival analysis. *Statistics in Medicine*, *18*, 681–694.

Van Buuren, S, Brand, JPL, Groothuis-Oudshoorn, CGM, & Rubin, DB. (2006). Fully conditional specification in multivariate imputation. *Journal of Statistical Computation and Simulation*, 76, 1049–1064.

White, IR, Daniel, R, & Royston, P. (2010). Avoiding bias due to perfect prediction in multiple imputation of incomplete categorical variables. Computational Statistics and Data Analysis, 54, 2267–2275.

White, IR, Royston, P, & Wood, AM. (2011). Multiple imputation using chained equations: Issues and guidance for practice. Statistics in Medicine, 30, 377–399.

Zhang, P. (2003). Multiple imputation: theory and method. International Statistical Review, 71(3), 581–592.

doi:10.1186/2196-0739-1-4

Cite this article as: Bouhlila and Sellaouti: **Multiple imputation using chained equations for missing data in TIMSS:** a case study. *Large-scale Assessments in Education* 2013 1:4.

Submit your manuscript to a SpringerOpen[®] journal and benefit from:

- Convenient online submission
- Rigorous peer review
- Immediate publication on acceptance
- Open access: articles freely available online
- ► High visibility within the field
- ► Retaining the copyright to your article

Submit your next manuscript at
springeropen.com